
BOESTOFTE
3680090
3680100
73804001
73805001

1/1322.03.2023 - Rev.3

700 mm

71
5-

10
55

 m
m

405 mm



2/13

700 mm 400 mm

18 mm

580 mm 405 mm

71
5-

10
55

 m
m



3/13

GB:

DK:

DE:

NO:

SE:

FI:

PL:

CZ:

HU:

NL:

SK:

FR:

SI:

HR:

IT:

ES:

BA:

RS:

UA:

RO:

BG:

GR:

PT:

RU:

TR:

CN:
组装和/或使用本产品之前请通读该手册。请严格遵循手册说明，保留手册供日后参考。
重要信息！

IMPORTANT INFORMATION!
Please read the entire manual carefully before starting to assemble and/or using this product. Follow the manual thoroughly and keep it for further 
reference.
VIGTIG INFORMATION!
Læs hele manualen grundigt igennem før samling og/eller brug af dette produkt. Følg manualen nøje, og opbevar den til senere brug.
WICHTIGE INFORMATIONEN!
Bitte lesen Sie die gesamte Anleitung sorgfältig durch, bevor Sie mit der Montage und/oder Verwendung dieses Produkts beginnen. Befolgen Sie die 
Anleitung genau und bewahren Sie diese für den späteren Gebrauch auf.
VIKTIG INFORMASJON!
Les hele bruksanvisningen nøye før du begynner å montere og/eller bruke dette produktet. Følg bruksanvisningen nøye, og ta vare på den for fremtidig 
bruk.
VIKTIG INFORMATION!
Läs bruksanvisningen i sin helhet innan du börjar att montera och/eller använda produkten. Följ bruksanvisningen noggrant och spara den för framtida 
referens.
TÄRKEITÄ TIETOJA
Lue käyttöohjeet kokonaan ennen tämän tuotteen kokoamista ja/tai käyttöä. Noudata käyttöohjeita tarkasti ja säilytä ne myöhempää tarvetta varten.

FONTOS INFORMÁCIÓ

tartsa be a benne foglaltakat.

Lees de volledige handleiding zorgvuldig door voordat u dit product monteert en/of gebruikt. Volg de handleiding zorgvuldig en bewaar deze voor 
toekomstig gebruik.

INFORMATIONS IMPORTANTES
Veuillez lire attentivement l'ensemble du manuel avant de commencer à monter et/ou utiliser ce produit. Suivez rigoureusement le manuel et 

POMEMBNE INFORMACIJE!

potrebe.
INFORMAZIONI IMPORTANTI!
Si prega di leggere attentamente l'intero manuale prima di cominciare a montare e/o a utilizzare questo prodotto. Seguire rigorosamente le istruzioni di
questo manuale e conservarlo per una successiva consultazione.
INFORMACIÓN IMPORTANTE

futuras consultas.

upotrebu.

upotrebu.

INFORMAÇÕES IMPORTANTES!
Queira ler este manual inteiro e com atenção antes de começar a montar e/ou usar este produto. Siga as instruções de forma cuidadosa e guarde-as para
referência futura.



4/13

GB:

DK:

DE:

NO:

SE:

FI:

PL:

CZ:

HU:

NL:

SK:

FR:

SI:

HR:

IT:

ES:

BA:

RS:

UA:

RO:

BG:

GR:

PT:

RU:

TR:

CN:

WARNING TO AVOID SCRATCHES!
In order to avoid scratching this furniture should be assembled on a soft layer - could be a rug.
ADVARSEL FOR AT FORHINDRE RIDSER!
For at forhindre ridser skal dette møbel samles på et blødt underlag, f.eks. et tæppe.
HINWEIS ZUR VERMEIDUNG VON KRATZERN
Um Kratzer zu vermeiden, sollte dieses Möbelstück auf einer weichen Unterlage montiert werden (z. B. Teppich).
ADVARSEL FOR Å UNNGÅ RIPER!
For å unngå riper må møbelet monteres på et mykt underlag, for eksempel et teppe.
VARNING OM HUR DU UNDVIKER REPOR!
För att undvika repor ska denna möbel monteras på ett mjukt underlag, exempelvis en matta.
VARO NAARMUJA!
Varo naarmuja ja kokoa tämä kaluste pehmeällä alustalla, esimerkiksi maton päällä.

VAROVÁNÍ TÝKAJÍCÍ SE POŠKRÁBÁNÍ!

WAARSCHUWING OM KRASSEN TE VERMIJDEN!
Om te voorkomen dat dit meubel krassen vertoont, moet het gemonteerd worden op een zachte ondergrond - zoals een tapijt.
VÝSTRAHA TÝKAJÚCA SA PREDCHÁDZANIA ŠKRABANCOM!

Da bi se izognili praskam na pohištvu, pohištvo sestavite na mehki podlagi, npr. na preprogi.
UPOZORENJE O IZBJEGAVANJU OGREBOTINA!
Kako bi se izbjegle ogrebotine, ovaj proizvod potrebno je sastavljati na mekanoj površini - primjerice, na tepihu.
AVVERTENZA PER EVITARE I GRAFFI!
Per evitare i graffi, si raccomanda di montare questo mobile su una superficie morbida (come ad es. un tappeto).

Para no rayar este mueble, es aconsejable ensamblarlo sobre una superficie suave (posiblemente una alfombra).

UPOZORENJE ZA IZBEGAVANJE OGREBOTINA!

AVISO PARA EVITAR RISCOS
Para evitar riscos, este móvel deve ser montado numa superfície macia (por exemplo, tapete).

为了避免刮伤家具，应在地毯等软面上进行组装。
防刮警告！



5/13

GB:

DK:

DE:

NO:

SE:

FI:

PL:

CZ:

HU:

NL:

SK:

FR:

SI:

HR:

IT:

ES:

BA:

RS:

UA:

RO:

BG:

GR:

PT:

RU:

TR:

CN: 重要提示！
使用任何类型的螺钉组装的产品，必须在组装 2 周后重新拧紧，并且每 3 个月重新拧紧一次，以确保产品在整个使用期内结实稳固。

IMPORTANT!
It is important that any product which is assembled using any kind of screw is re-tightened 2 weeks after assembly, and once every 3 months - in order to
assure stability through-out the lifespan of the product.
VIGTIGT!
Det er vigtigt, at alle produkter, der samles med alle former for skruer, efterspændes to uger efter samling samt hver tredje måned for at sikre, at
produktet er stabilt i hele dets levetid.
WICHTIG!
Es ist wichtig, bei jedem mit Schrauben montierten Produkt diese 2 Wochen nach dem Zusammenbau sowie einmal alle 3 Monate wieder anzuziehen, um
die Stabilität des Produkts über die gesamte Lebensdauer hinweg zu gewährleisten.
VIKTIG!
Det er viktig at alle produkter som monteres med skruer blir etterstrammet 2 uker etter montering, og hver 3. måned for å sikre stabiliteten gjennom hele
produktets levetid.
VIKTIGT!
För alla produkter som monteras med skruv är det viktigt att dessa efterdras två veckor efter monteringen och därefter en gång var tredje månad. Detta för
att säkerställa att produkten håller sig stabil under hela sin livslängd.
TÄRKEÄÄ!
On tärkeää, että kaikki ruuvien avulla koottavat tuotteet kiristetään uudelleen 2 viikkoa kokoamisen jälkeen ja aina 3 kuukauden välein, jotta tuote pysyy
vakaana koko käyttöikänsä ajan.

FONTOS!

BELANGRIJK!
Het is belangrijk om elk product dat met om het even welk soort schroef wordt gemonteerd, twee weken na montage en om de drie maanden, opnieuw
wordt vastgeschroefd, om de stabiliteit van het product tijdens de hele levensduur te verzekeren.

IMPORTANT

tout son cycle de vie.
POMEMBNO!
Vsak izdelek, ki ga sestavite z uporabo kakršnihkoli vijakov morate 2 tedna po sestavitvi ponovno pregledati in vijake po potrebi priviti. To ponovite vsake 3

IMPORTANTE!
È importante in ogni prodotto montato con viti serrare ben strette le viti 2 settimane dopo il montaggio e poi ogni 3 mesi per garantire la sua stabilità
durante tutta la durata del prodotto.
IMPORTANTE

kako bi se obezbedila stabilnost tokom celog veka trajanja proizvoda.

IMPORTANT

AVISO IMPORTANTE!
É importante, em cada produto montado com parafusos, reapertar os mesmos 2 semanas após a montagem e uma vez a cada 3 meses para garantir a



6/13

GB:

DK:

DE:

NO:

SE:

FI:

PL:

CZ:

HU:

NL:

SK:

FR:

SI:

HR:

IT:

ES:

BA:

RS:

UA:

RO:

BG:

GR:

GENERAL INSTRUCTION FOR FURNITURE MADE OF WOOD OR WOOD COMPOSITES SUCH AS MELAMINE, LAMINATE OR VENEER SURFACES!
Wipe clean with a damp cloth. Use only water or a gentle detergent.
Wipe dry with a clean cloth.
GENEREL VEJLEDNING TIL MØBLER FREMSTILLET AF TRÆ ELLER TRÆKOMPOSITMATERIALER SOM MELAMIN, LAMINAT ELLER FINER!
Rengøres med en fugtig klud. Anvend kun vand eller et mildt vaskemiddel.
Tørres af med en ren klud.

FURNIEROBERFLÄCHEN!
Mit einem feuchten Tuch abwischen. Nur Wasser oder ein mildes Reinigungsmittel verwenden.
Mit einem sauberen Tuch trocken reiben.
GENERELLE INSTRUKSJONER FOR MØBLER LAGET AV TRE ELLER TREKOMPOSITT SOM MELAMIN, LAMINAT ELLER FINER!
Tørk av med en fuktig klut. Bruk bare vann eller et mildt vaskemiddel.
Tørk av med en ren klut.

Torka rent med en fuktig trasa. Använd endast vatten eller ett milt rengöringsmedel. Torka torrt med en ren trasa.

VALMISTETUILLE KALUSTEILLE!
Pyyhi puhtaaksi kostealla liinalla. Käytä vain vettä tai mietoa pesuainetta.
Kuivaa puhtaalla liinalla.

TARTALMAZÓ BÚTOROKHOZ

Törölje szárazra tiszta ruhával.
ALGEMENE INSTRUCTIES VOOR MEUBELS VERVAARDIGD UIT HOUT OF HOUTCOMPOSIET ALS MELAMINE, LAMINAAT OF
FINEEROPPERVLAKKEN!
Reinig met een vochtige doek. Gebruik alleen water of wasmiddel.
Droogwrijven met een schone doek.

PREGLEJKOVÝCH POVRCHOV!

Essuyer à l'aide d'un chiffon propre.

IMPIALLACCIATURA!
Pulire con un panno umido. Utilizzare solo acqua o un detergente delicato.
Asciugare con un panno pulito.
INSTRUCCIONES GENERALES ACERCA DE LOS MUEBLES CON SUPERFICIES DE MADERA,
COMPUESTOS DE MADERA COMO MELANINA, LAMINADAS O CONTRACHAPADAS

Secar con un paño limpio.
OPŠTA UPUTSTVA ZA NAMJEŠTAJ OD DRVETA ILI DRVENIH KOMPOZITA, NA PRIMJER ZA POVRŠINE OD MELAMINA, LAMINATA ILI

Posušiti suhom krpom.
OPŠTA UPUTSTVA ZA NAMEŠTAJ NAPRAVLJEN OD DRVETA ILI DRVENOG KOMPOZITA KAO ŠTO SU MELAMIN, LAMINAT ILI FURNIR
POVRŠINE!

MELAMINATE, LAMINATE SAU FURNIRUITE!



7/13

PT:

RU:

TR:

CN:

INFORMAÇÕES GERAIS PARA MÓVEIS DE MADEIRA OU MATERIAIS COMPOSITOS DE MADEIRA, COMO SUPERFÍCIES DE MELAMINA,
LAMINADO OU FOLHEADO

Secar com um pano limpo.

针对实木及实木复合类（三聚氰胺面、层板、胶合板）家具的一般说明

请用湿布擦拭。只使用水或温和洗涤剂。
请用干净的布擦干。



8/13

B × 4

Ø6 mm

C × 4 D × 7A × 11

M6x12 mm M6x50 mm

E × 1

4 mm

Ø6/Ø16 mm



9/13

4

2

1

3



10/13

Box 1/1:

1

4

2

3

100x50x640 mm 300x122x20 mm

700x400x18 mm 700x405x30 mm



11/13

1
A × 3

M6x12 mm

E × 1

4 mm

2
A × 8

M6x12 mm

E × 1

4 mm

A

E

D

A

E

D × 3

Ø6/Ø16 mm

1

3

2



3
B × 4

M6x50 mm

C × 4

Ø6 mm

4

12/13

E

B

C
D

E × 1

4 mm

D × 4

Ø6/Ø16 mm

4



5

13/13

5 kg

max

JYSK a/s
Soedalsparken 18

DK-8220 Brabrand
+45 8939 7500

DK13590400


